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Diagrama de flujoEntradas Salidas
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𝑚𝑖=𝑚𝑐 + 𝑚𝑔1

𝑚𝑔1 = 𝑚𝑔2 + 𝑚𝐿

𝑚𝑓 = 𝑚𝑐 + 𝑚𝑙 + 𝑚𝑔2
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𝛼 =  
𝑚𝑖−𝑚

𝑚𝑖−𝑚𝑓𝑖
 





𝑑𝛼

𝑑𝑇
= 𝑘 · 𝑓(𝑇)

𝑓(𝑇) = 𝑎 + 𝑏𝑇 + 𝑐𝑇2

𝑘 = 𝑘0 exp (−
𝐸𝑎 

𝑅𝑇
)
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𝑐𝑝,𝑔 =  ∑ 𝑥𝑛 · 𝑐𝑝,𝑛
𝑦
𝑛=1

𝑐𝑝,𝑛

𝑅
=  𝑎1 + 𝑎2𝑇 + 𝑎3𝑇2 + 𝑎4𝑇3 + 𝑎5𝑇4

HHV =  0.303 [C]  +  1.423 [H]
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HHV =  0.305 [𝐶]  +  1.423 [𝐻]  −  0.154 [𝑂]

LHV =  𝐻𝐻𝑉 − ℎ𝑉 · (
9[𝐻]

100
+

𝑀

100
)

 𝑄𝑐𝑤 =  𝑚𝑐𝑤 · 𝑐𝑝,𝑐𝑤 · 𝛥𝑇𝑐𝑤

𝑄𝑒𝑥 =  𝑚𝑒𝑥 · 𝑐𝑝,𝑒𝑥 · 𝛥𝑇𝑒𝑥

𝑚𝑒𝑥 =  𝑚𝑎𝑖𝑟 + 𝑚𝑝𝑦𝑟𝑜𝑔

𝛥𝑇𝑒𝑥 =  𝑇𝑖,𝑒𝑥 − 𝑇𝑜,𝑒𝑥

𝑃𝑚𝑒𝑐 =  𝑄𝑝𝑦𝑟𝑜𝑔 − 𝑄𝑐𝑤 − 𝑄𝑒𝑥 − 𝑄𝑙𝑜𝑠𝑠

𝑄𝑝𝑦𝑟𝑜𝑔 =  𝑚 · 𝐿𝐻𝑉𝑝𝑦𝑟𝑜𝑔

𝑃𝑒𝑙𝑒𝑐 =  𝑃𝑚𝑒𝑐 · 𝜂𝑔𝑒𝑛

𝜂𝑔𝑒𝑛 



95 
 

 



96 
 

 



97 
 

 



98 
 



99 
 

 

 



100 
 



101 
 

 



 

 
 



 

 
 



102 
 

 

 

 

 

 



103 
 

 

 

 

 

 

 



104 
 

 

 

 

 

 



105 
 

 

 

 

 

 



106 
 



107 
 



108 
 



109 
 



 
 

 


